


3-5-3 FLERSIEAZIERE

& Emsom
1 —(EEF] > EHEESE 27 - B IHMERT— AL SR E—EEE
BEET T Ry LLB | - i o e Ry AL BHE A r Fow

I (3, ) S H 2 Y EL ] -
2. —%L\J\ al’alr’alrz, ...... ,alr"_l’ ...... %ﬁ%tbg&ﬁ”<aﬂ> o

3.%nEHa, =ar" =a """ -

na, ,r=1
4. HiNIERIS, =a +ar +ar’+oorar =g a0-r")
1-r

. EIEERRE AR
2208 ]
()YZALLr =18F > BinIE

31:31+alr+alr2+ ...... +a_1|*”'1:a_1+al+a1 ...... +a,=na,
nIg

(i &t # 10 -

S =a+ar+ar’+....+ar"
-) rB, =  ar+ar’+..... +ar"+ay"

(1-r)S,=a -ar"
(1—r)Sn:a1(1—r“)
Sh:al(l—r“)

(1-1)



Canssm

LB R AR GP. -

I
E VIR ¢ o s/ s i = =

BIRE 1

T8y (a, ) HEE = TEBLES )\ TH S Bl By 2 81 64 »

sokHEHE=___ ~Atk=__ ~HnlH=
Ans:

HEE=a  Ath=r
{ a, =2 alf2=2 - )
=
a,=-64 |al’'=-64"- 2)
Q+@)=r"=-32=r=- 2%/\(1)%(3:%

5 8, =202

BiRE 2

i MBS Z IR A MR > sl HESE nHa, -

(1) 1! _1) 1’ _1, 1 .......

(2)2,_1’1 __1 _1
2 4 8

Ans:
1)
ra=1,r=-1
I:l an - (_1)n—1



a:2,r:—E
2
— o Ly
& =20-7)
3)
-:a:Ji,r:JE

S

il 3

LS (a,) - HAPES BIER > ¥ 08, 0R, 8, =5,a,= 3202 &, > 20001
S0k N > M =

Ans:

3 =a, 1
= 320= 51*
= r?=64
= =42
a, >20000

5[@&)"_4 > 20000

2—2212: ns 28

Bl 4

NFH L0000TEH7 ASRIT » 4P 2%
EAREER B2 BRI
BR AR = i

Ans:
SRR Ry 2%
U PR R 1%

Fi3k =10000%( 1.0)" = 1040(7T)

oK 9+99+ 999+ FEHE NIH =




Ans:

Fiok =(10-1)+(16 - 3+( 16— }+--+( 10- )

B 6
s R FELLRS - HAIRy 28 > PG AIR 336 SRIE=80

Ans:

ﬁ&%:%ﬁ%%?\a~w’mﬁﬁﬂﬂr

a
—+a+ar =28

r
a.2
—+a’+a*?=336
r

a=28 ...
/a\t:E+1+r =19 51 @)
r a?(t?-2t)=336-(3

\l
|_\

(1)2+(2)’%'at:§:>r 5o 2 REQ)Ea=4

i BE=8Url R4 - 8~ 165016~ 8 ~ 4

! N
]
f
N

RRAE

fﬁﬂﬁﬁﬁ,ﬁfﬁﬂ’ﬂkﬂﬁiﬁfﬁ%% > HE—F S -
CHILE AR 25 8 A > A 30 E A > HE_+41%
| CKIECSEACUER. HA? CREVNEGE R —L)

nit?— 581 40 ZfEHE A 5 (EIERL > (£iE 7 [HBRFELES] -
ACKILE IRy ALE =

©



s =B ELERS - HR R 13 Bk 27

AR =80R

USSR 4+ (=6) + O ... +71_269

Y Forifk -

e . 9 .. 1 .. 65
H—FHLEY] élﬁ%g o TE 3 Hii n%ﬂ}%i ,

K1) n= > (QAkEr =

[ £ 89)

a5 ATH 19804F#E - 50 FNEFERE RAH[EE -

ELA1 1987 (5N LI 508 » 199945 60 (R AFEAAEFEALALH -
RIS IE LR 2023 5 (5 A B 34T | 51—l 2 2
(A)75{8 (B)80{E (C)86{& (D)92{g (E)100{g -

[0 87]

Fhgoi(a,) o a1 a=2—5 - a,,~a,+a, > n21,
I(a,) B9 LB

(257 91]

FAFEIRE] 85 AR 4 (80T > REI86 F23EE R 6 (87T > s YRRy 50 % -
87 88> 89 —EHYM KR EME - HERE] 89 FHVEFEE R 48 (87T -
AIlEZ A E] 8RR Ry

B ZCAE SARRTE T R0 E R 100 BT S ENEEEE—FRITE 20%:
FFREFITER—FHEN  15%-

©



RS AR S A e BB RS V&

JC?

BE2 2
E%3:9‘3\1§21\3\9

I ! 3 463
BEAL: Y 40—
= 8 ; [(2 o

il
il
Ul

wnea @2
C(Mn=4 (2)r = 2

iy
i

16:(6,2)

iy
i

1/ :(C)
i;ﬁfiﬂii-ﬁ_g%r
FHRE R T -

501" = 60=r"
ﬁﬁSEZGO[]u = 60[Gr12)2 - 864
7 (C)

BE8:r=—"=

(BN W11 ’Eljaz:r . 83:r2

ey, a tha,
Da=a,+a
Sri=rl cr= 1“—“2‘/5

{8 a,=2—/5 - #r :1‘_2\/5

=i 9 : 100%

ﬁXnXBZ%E%% r




60{1+r)’ = 48
(1+r) =8
r=1

i R R 100%
&8 10 : 58 E T
100x(1- 0.9x( + 0.15 = 57.

W POEE T AL 58 H T



